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DIE AUFGABEN IN BM46 UND BSO3 GERECHNET ?
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Kennwerte Reduzierte Stablangen
J3=150000cm4 ; J1=Jp=12J3 /=, E0J0 _
E{=E9=E3 =3-10"kN/m? " E
Gewshit: Jg =4 ; Eq=E; [p=3m ; Lg=72m
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U1=3 ;lé==3 ;L%==72 A{f6 6m 3€I
a= E0J01*5
Belastungszahl

9 Superposition
vzl 1 Mm = 54 + (—28,2)-1 = 25,8 KNm
agq=3211+72:1:1+331:1=92
: : = — 282
Gleichung ’
— 28,2

aqq X4 = —ayg daraus Xq = — 28,2
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Kennwerte Reduzierte Stablangen

J4 =100000 cm4 ; Jo=1,5J4 EoJo . EqJdo
Eq=Ep =3-107 kNim2 M TR
Gewdhlt: Jg =Jy ; Eg=Ey y=9m
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.
_61

KRAFTGRORENVERFAHREN




142 63
6m

|

X =1
1 /@
T1/9

P \
1/6?&‘\]

1518 1

V=9 : lh=9
1
a9 =95 1-63 +921-100(1 + %) =423 Mim =63 + (=70,4) 5= 27,8 kNm
1 Mp = — 704
11+ 9311 =6
3 My = — 60,9

— a4 daraus X4 =—704
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Kennwerte Reduzierte Stablangen
J1 = Jp = J3 = 160 000 cm* L/1=L/2=L/_411_=4m

’ 11
J4 = J5=200000 cm
Eq ... E5 =3+107kN/m?
Gewahlt: Jo=Jq1 Eg=Eq
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U1=[&= m3=4 ;14 24 ; L5 >k
a= Egdg1" 0
1
a10=4§1-50=66,7 Mm=Mm,O+X1Mm,1
1

1 1 _ _313)= =
ay =24311+431:1=213 Mm =50 + (=31,3) 5 = 34,4

Superposition

aqqXq = —ayy daraus Xq=-313
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